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AT RS S 8,621 23,521 10,268 9,346 23,506 922 99.94
14 8,842 23,768 10,567 9,584 23,756 983 99.95
15 9,073 24,114 10,963 9,996 24,102 967 99.95
16 9,187 24,229 11,212 10,131 24,217 1,081 99.95
17 9,409 24,624 11,834 10,559 24,612 1,275 99.95
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Rk 134 6,282 18,367 7,111 6,629 18,207 482 99.13
14 6,395 18,467 7,240 6,734 18,321 506 99.21
15 6,499 18,648 7,396 6,913 18,507 483 99.24
16 6,537 18,587 7,502 6,953 18,449 549 99.26
17 6,606 18,455 7,570 6,947 18,319 623 99.26
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SRR 1 B4R 5,906 15,759 7,130 6,629 15,752 501 99.96
14 5,964 15,827 7,206 6,573 15,805 633 99.86
15 6,041 15,810 7,328 6,635 15,788 693 99.86
16 6,070 15,761 7,449 6,698 15,739 751 99.86
17 6,095 15,704 7,393 6,534 15,682 859 99.86
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SRR 134 3,260 9,726 3,798 3,503 9,711 295 99.85
14 3,326 9,760 3,852 3,531 9,744 321 99.84
15 3,381 9,793 3,965 3,631 9,777 334 99.84
16 3,466 9,896 4,038 3,673 9,881 365 99.85
17 3,506 9,899 3,882 3,579 9,884 303 99.85
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SR 1 34 EE 5,260 15,689 6,133 5,757 15,655 376 99.78
14 5,332 15,599 6,198 5,717 15,562 471 99.76
15 5,383 15,551 6,264 5,724 15,517 540 99.78
16 5,414 15,447 6,415 5,728 15,415 587 99.79
17 5,745 15,172 6,345 5,677 15,163 668 99.94
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SRk 134 2.196 6540 P | YNE EErE Ay SEB/A
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g) FHINbE T, 90 309 '
BN R A T R B LA 100.0
- — U2 X —
adis ik PO — . = (BT, A, 12, %)
SR | wan | A ek e
/. > = # /N
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